Supplementary Material E: Toy CAV data simulation results

Toy CAV data: misclassification and initial probability parameters
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Toy CAV data: log-rate intercept parameters
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Toy CAV data delayed enrollment: log-rate intercept parameters
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Toy CAV data: log-rate iyears parameters
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Toy CAV data: log-rate sex parameters

-06 -05 -04

-0.7

-02 00 02 04

oy

Toy CAV data delayed enrollment: log

-05 -0.4

-0.6

-0.8 -0.7

-0.9

=]

0.0

-0.5

-1.0

State 1 (well) ---> State 2 (mild)

State 1 (well) ---> State 4 (dead)

State 3 (severe) ---> State 4 (dead)

©
° —_— ° T ; © | 8 e
| ' -
. : < : ' _ _
H o ' [ ] '
' | ' <« | '
\ L L L 4 I '
N o~ = ' '
- S Tl e e [t e e | e | :
N
el c— c— —t — — | o— e - SIS S B
° ' : [ |
. . v ' I
: ; s | 21 |
: : ' : i i i
B ' ! 2 —t —— ® | : !
— T o [=] _
T T T T T T
Bayes MLE (msm) Bayes MLE (msm) Bayes MLE (msm)

.95 coverage = 0.92 Bayes, 0.93 MLE (msm)

State 2 (mild) ---> State 3 (severe)

.95 coverage = 0.91 Bayes, 0.93 MLE (msm)

State 2 (mild) ---> State 4 (dead)
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-rate sex parameters
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.95 coverage = 0.89 Bayes, 0.89 MLE (msm)

.95 coverage = 0.96 Bayes, 0.95 MLE (msm)

.95 coverage = 0.95 Bayes, 0.96 MLE (msm)



